él_l‘j_aHiEél-m

pe Iy |
20244 10& 0 ~ 20244 10& 13¢
108 07¢ (&) 108 08Y (&) 108 09Y (%) 108 102 (2) 108 1 (2)
SAA: 1,025 AR 1,025 st=24 SAQRA: 1,025 SAQIRA: 1,025
=2 =2 - 22 RS =1
-HASE=(5.6) - HHES=(5.6.16) CSEMRH=(5.9.18) |- HSEIATZ(2.5.6)
- - ZHEE -0ESYXTE - SIS (5.6.10.13) Q20 ERE(5.6)
i (2.5.6.12.13.15.16) (5.6.10.12.13.16) cNF=RE(5.6) cHESHES
S 1. 2r=9)(9) - ==%(5.6.10) - GR22AXI(9) (1.2.5.6.10.12.16)
- 2HEAEE(5.6) - 2012 X(9) -2 - BH=2 XI(9)
- HEE2(5) - BFLELE - HI0I 0l AAA(12)
AZY (AR AEY (ARE) AZY (AR AZY (ARE) AZY (AR
[&=er2] [&=g2] [Z=g2] [Z=g2]
s/ (2E23) (10.00kg) [VIsEEA(2E23H) (10.00kg) Jlsd&a(2&23) (10.00kg) [VIsd&a(2&23H) (10.00kg)
QUM (BH0])/RIBHA (47.00kg) S M(EHO|) /&2 (47.00kg) Ua(eHgl)/&I2HA (47.00kg) QA(EH0]) /&2 (47.00kg)
UN(=0])/R2A (1.00kg) UA(=0])/x2A (1.00kg) ga(=0])/&sA (1.00kg) Ha(£0])/&&A (1.00kg)
sel(22al)/&Ad (1.00kg) [Zel(Z222l)/&EZE (1.00kg) Hel(ZE2)/&EH (1.00kg) |2al(Z22l)/&&Ad (1.00kg)
NE(HRER)/EEE (1.00kg) |RE(HRE)/EZ (1.00kg) RE(HRE)/2EF (1.00kg) |XE(HIZE)/EEA (1.00kg)
M (80l)/x2A (10.00kg) Ea(s0l)/&&Hd (10.00kg) g (s0l)/&ekd (10.00kg) Ea(s0l)/&&rd (10.00kg)
[HAEE=] [HE=2=] [FRM2HR] [ctaetAaT]
DEZ (1.10kg) 2HE(LE2LE) /=4 (0.200) DE(E20F(20F))/3&A |[ZX/ZEMH(2E2) (10.00kg)
CEt2It A /&8 (8.00kg) 2HEH(RHRHZERE) (1.00L) (0.20kg) 223 ST2L) (14.00kg)
CHAIOH/ 22124 (A X) (1.60kg) |CHAIDH Z&IZ(AZX) (2.20kg) CHAIOH/ 22124 (21 R) (1.60kg) [AZ2(ZAZ) (0.80kg)
S2/HIEE2 (1.60kg) S2/MEE2 (1.60kg) S2/MEE2A (1.60kg) T/ ZEMH(22) (8.00kg)
SIZ(H==Z) (3.80kg) Obs/ZEMA(2424), ZXIHMH SE2/MWINE (18.00kg) SK/U(K) (17.100)
Obs/ZEMH(22A), BXHH [(0.90kg) OFS/ZEMMN (), ZXMH |22 (HZ2AE) (1.00kg)
(O.BOkg) S(EHLR)/E2ZE (14.00kg) (0.60kg) SeH(StSe) /2 EMH(2A)
SX(2EX, HY) (2.00kg) SH(sSF=2) (14.00kg) SR(2ER, HY) (2.20kg) H S (30.00kg)
(5@%)/?_'%% (10.00kg) L22(5243) (0.80kg) S(EHR)/R2Z (20.20kg) S (&4M) (0.01kg)
AU/ &2 (1.60kg) AU/ &2 (1.60kg) HEXIZtat/= 4k (8.10kg) [22olem2E]
LS0IBIA/RI2Z (7.00kg) FTF/ZE MM (2H24) (1.60kg) UHH=/E 2 (1.60kg) DEZE (1.00kg)
QHTH/ZE M (2H2) (7.00kg)  |EZ= (0.90L) SFTH/ZE MO (2424) (8.10kg) | DZ=It2/=24+ (0.20kg)
TH(CHIF) /2R A (242A) THCHTH) /2 2 M H (2H2A) H(MSHE(=H)) (1.50kg) TH(EN) /S22, ZEMH (2
(0.80kg) (1.60kg) HZ (0.90L) 21) (0.20kg)
WOl A /X8t (8.00kg) st (¢rtel, ®X)/=8 THCHTH) /2R M H(2H2) S (HFSZF) (1.00kg)
[RHSH] (14.00kg) (0.90kg) G2/t (02, 22) (0.00kg)
Al |2HE (L Z2HE) /24 (0.70L) Sx(Z24) (0.01kg) SEH(OHSE) /& & (8.10kg) |DtS/ZEMM(2A), ZXIHMH
DEZE (1.50kg) [DIEESYXH] SZE(Z24) (0.01kg) (0.60kg)
- DEIIR/24F (0.40kg) ZE(YR2F) /24 (0.20L) [ETR] BRS=(Z20l, SHi=)/2ed
= |CHAIDH/ 22124 (X)) (0.50kg) |2Z=Z (1.40kg) DIIAA (6.24kg) (S0.00kg)
SDII(Ots)/&18F (36.00kg) |Z2/MEBE2 (5.00kg) gXIno(KCtel, EX)/golel 2(F243) (0.50kg)
LH [E201(S=T214) (30.00kg) |ERO0IE(RAER0IE) (0.00kg) X’JI /=24 (0.20L)
HE0|G(THER0IT) (23.00kg) SR DII(CH2l, ®X)/BSE (INBIH/ZEMH(2A)
o |(17.00kg) Ots/ZEMA(2t24), ZXIHMH (100.00kg) (0.80kg)
= |OFs/2EMA(2E2A), BXMH [(0.70kg) Ots/ZEMA(22A), ZRMH |[[2HESHES]
(1.00kg) 29 (H=29) (2.00kg) (1.50kg) =r2¢ (5.00kg)
HEHY, DtARHIE) DIEES (45.00kg) QHTIH/ZIE M H(2H24) (3.00kg) |Z2/MEEH24 (3.00kg)
(0.20kg) AFDH/EI & (4.00kg) HEMW/ 2 ( 1.00kg) YXDIN(SH)/ENAS
A3(Z43) (0.20kg) U=/ 218 (6.00kg) THCHTH) /2R M H(2H2) (64.00kg)
AKX (HIALEA AR (10.00kg) [FIH/ ZEHH (224) (4.00kg) (2.00kg) Ots/ZEMA(2t24), ZXIHMH
AMHEIAA(RRMAA) SAEAA (1.00kg) Sx(H2s5EX) (0.07kg) (0.70kg)
(8.00kg) SUMK(3H=2tR) (3.00L) [4=2F] UIIR(ZHE)/=4 (2.00kg)
T/ ZE MM () (8.00kg) |HZ= (0.90L) 2 (THH2HE) (0.60L) SL(rAEY) (1.00kg)
SK/(X) (1.80L) E0E(S=SE0LE) (6.00kg) 2 /xZE2 (0.60L) L2 (18.00kg)
E0ENE/ISIES DEIIZ/24 (0.60kg)
(12.00kg) M(EM) /B2, PEMA(
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= Sl (ANO
[F2HAl A& (AR)]
= = F
AEY (A2) MEY (ARF) MEY (AQF) AZY (22Y) AZY (22%)
AZY (AR = S 1) (0.20ka) MU/RSAH, PEMH(2A)
SAMMS(Gt=etR) (5.000) D2 (B0 Y)/A&F (2.00ko) Zmel (3 00kg) (0.80kg)
2I18/24 (0.200) FREE4) (0.01k) ObS/ZER(22), BXHA |28/0(X) (2.700)
XNZ(DHOFAEXIZ(R)) (1.00kg) |[=F&] (0.60k) WM (St=at2) (10.00L)
2(31=3a) (2.00kg) aré*(%ti@g)/iﬁjso.wjt) S o =4 (0.500) =% (180)
EOIEHO0I22 (6.30ko) ) F&?{?‘M pEREE) ot /2T (22) (1.00kg)  |H2IIZ (5.00kg)
Osel/Zel (A=) (0.10kg 3.00kg Iriy i T221/24 (0.60kg)
[2501] SS/LUA(AX), BERH (D ﬁti‘(ii:f?ﬁﬁéiﬁ,) =2 (2o (0 01na)
X (Z=31) (30.00kg) 21) (6.00kg) _ N Se (=g DiAaHe) (b= 7]
[2F A OF S & ] HRDI(HTkel, =X)/CHaA (EocéOL:g)o‘ = 25 (B=2 %) (30.00kg)
2HE(LZE) /4 (3.80L)  [(4.00kg) N A2(2A2) (0.10kg) e ESES
DEIIZ/R L (0.40kg) OHS/ZEMA(221), BRMA A 0 el HOIZa AL~ (14.00kg)
HEM)FE BEMAR(0.80ka) £3+/2 82 (3.00kg) ST/ RE N (22) (3.00kg)
%) (0.80ko) ElI(s401)/A S (3.00ka) U E(MT, BOUFUE)/AE
Al [CHAIDN/ 22124 (1) (0.50kg)  [HHZ=/&1 2t (8.00kg) > (3 00kg)
-/ — o0 =] =2 o .
OFS/ &M (2, SAHA A:(jtm(: O% go ka) 90\(3M|90|)/§‘% (4.00kg)
(0.40kg) S ZI|1Z2/24 (0.20L)
& |2x/218Z (0.70ka) =FU2/3 (5 00kg) m(zam)/m'wﬂw o)
HEH(RY, OtATHIE) SUMR(St=ets) (18.000) i (;Okg)
(0.80kg) e (D‘II1 )/ =4 (1.00kg) oo s %1824
W aoiz/3e (0.500) FI18/=24 (0.200) a O()ak\;)}ugur 213t/
THED /A HA(22A) g= gO.ZOL)I . (2227
S [(0.80ka) S IR R () X (ALK (27.00kg)
[oER] (1.00kg) | (o]
AER (L) (90.00kg) ZE(ZSM) (0.01kg Lx s
[2012xl] L4 (19.00Kkg)
2XI(2012 ) (35.00kg)
[HHLILEH]
HELELE/ 28 (70.20kg)
* del 27 AR _
By = 13.0}s}4k
0L, 2.4, 03909, 0495, 05.8'F, 06,9, 07.3050], 08,71, 094, 10.54507], 11 %%}, 12.2vhi, 13,019
FoU.EF, 15837, 16.4317], 17.940], 8.2MF(F, 4%, % ), 19.%
— 2 — )
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